

$$\textcircled{11} \int (1 - \sin^2 x)^{-1} dx = \int \frac{1}{1 - \sin^2 x} dx = \int \frac{1}{\cos^2 x} dx = \operatorname{tg} x + C$$

$$\textcircled{12} \int (1 + \operatorname{ctg}^2 x) dx = \int \left( \frac{\sin^2 x + \cos^2 x}{\sin^2 x} \right) dx = \int \frac{1}{\sin^2 x} = -\operatorname{ctg} x + C$$

$$\textcircled{13} \int 2^x dx = 2^x \frac{1}{\ln 2} + C$$

$$\textcircled{14} \int (1 - t^2)^{-\frac{1}{2}} dt = \int \frac{1}{\sqrt{1 - t^2}} dt = \operatorname{arcsin} t + C$$

$$\textcircled{15} \int (1 + t^2)^{-1} dt = \int \frac{1}{1 + t^2} dt = \operatorname{arctg} t + C$$

$$\textcircled{16} \int \operatorname{ctg} t \cdot dt = \ln(\sin t) + C$$

$$\textcircled{17} \int \frac{\sin 2x}{2 \sin x} dx = \int \frac{2 \sin x \cos x}{2 \sin x} dx = \sin x + C$$

$$\textcircled{19} \int \frac{\sqrt{x}}{\sqrt[3]{x}} dx = \int x^{\frac{1}{2} - \frac{1}{3}} dx = \int x^{\frac{1}{6}} dx = \frac{6}{7} x^{\frac{7}{6}} + C = \frac{6}{7} x \sqrt[6]{x} + C$$

$$\textcircled{20} \int \frac{x \sqrt[5]{x^3}}{\sqrt{x^3}} dx = \int x^{1 + \frac{3}{5} - \frac{3}{2}} dx = \int x^{\frac{1}{10}} dx = \frac{10}{11} x^{\frac{11}{10}} + C = \frac{10}{11} x \sqrt[10]{x} + C$$

$$\textcircled{21} \int e^{\ln x} dx = \int x dx = \frac{1}{2} x^2 + C, \text{ za } x > 0$$

$$\sin^2 x + \cos^2 x$$

31.3.04

## DOMAČA NALOGA

učb. str. 159 | zgledi &amp; naloge

$$(24) \int \log_3 \sqrt[4]{3} dx = \int \log_3 3^{\frac{1}{4}} dx = \int \frac{1}{4} dx = \ln x + C, \quad \log_3 3 = 1$$

$$(1) \int \sin(5x) \cdot \cos(2x) dx = \int \frac{1}{2} (\sin 5x + \sin x) dx = \frac{1}{2} \int \sin 5x + \frac{1}{2} \int \sin x =$$

$$= \frac{1}{2} \cdot (-\cos 5x) \cdot \frac{1}{5} + \frac{1}{2} \cdot (-\cos x) + C = -\frac{1}{10} \cos 5x - \frac{1}{2} \cos x + C$$

$$(2) \int \sin(2x) \cdot \sin(3x) dx = \int \frac{1}{2} (\cos(-x) - \cos(5x)) dx = \frac{1}{2} \int \cos x - \frac{1}{2} \int \cos 5x dx =$$

$$= \frac{1}{2} \sin x - \frac{1}{2} \cdot \frac{1}{5} \sin 5x + C = \frac{1}{2} \sin x - \frac{1}{10} \sin 5x + C$$

$$(3) \int \cos(2x-30^\circ) \cdot \cos(x+60^\circ) dx = \int \frac{1}{2} (\cos(3x+30^\circ) + \cos(x-90^\circ)) dx =$$

$$= \frac{1}{2} \left( \frac{1}{3} \sin(3x+30^\circ) + \sin(x-90^\circ) \right) + C = \frac{1}{6} \sin(3x+30^\circ) - \frac{1}{2} \cos x + C$$

$$(4) \int \sin(2x) \cdot \cos(4x) dx = \frac{1}{2} \int (\sin 6x + \sin(-2x)) dx = \frac{1}{2} \int \sin 6x dx - \frac{1}{2} \int \sin 2x dx =$$

$$= \frac{1}{2} \cdot \frac{1}{6} \cdot (-\cos 6x) - \frac{1}{2} \cdot \frac{1}{2} (-\cos 2x) + C = -\frac{1}{12} \cos 6x + \frac{1}{4} \cos 2x + C$$

$$(5) \int \sin(5x) \cdot \sin x dx = \frac{1}{2} \int (\cos(4x) - \cos(6x)) dx = \frac{1}{2} \int \cos(4x) dx -$$

$$\frac{1}{2} \int \cos(6x) dx = \frac{1}{8} \sin(4x) - \frac{1}{12} \sin(6x) + C$$

$$(6) \int \cos(2x) \cdot \cos(4x) dx = \frac{1}{2} \int (\cos(6x) + \cos(-2x)) dx = \frac{1}{2} \int \cos(6x) dx +$$

$$\frac{1}{2} \int \cos(2x) dx = \frac{1}{12} \sin(6x) + \frac{1}{4} \sin(2x) + C$$

$$(7) \int \cos x \cdot \cos(3x) dx = \frac{1}{2} \int (\cos(4x) + \cos(-2x)) dx = \frac{1}{2} \int \cos(4x) dx +$$

$$\frac{1}{2} \int \cos(2x) dx = \frac{1}{8} \sin 4x + \frac{1}{4} \sin(2x) + C$$

$$(8) \int \sin^2(2x) dx = \frac{1}{2} \int (1 - \cos(2z)) \frac{dz}{2} = \frac{1}{4} \int (1 - \cos 2z) dz =$$

$$\frac{z=2x}{z'=2}, \quad dz=z' \cdot dx \Rightarrow dx = \frac{dz}{2}$$

$$= \frac{1}{4} \int dz - \frac{1}{4} \int \cos 2z dz = \frac{1}{4} 2z - \frac{1}{8} \sin 2z + C = \frac{1}{2} X - \frac{1}{8} \sin 4X + C$$

$$\textcircled{8} \int \cos^2(3x) dx = \frac{1}{2} \int (1 + \cos 2z) \frac{dz}{3} = \frac{1}{6} \int dz + \frac{1}{6} \int \cos 2z dz =$$

$$\begin{array}{l} z = 3x \quad z' = 3 \\ dz = z' dx = 3 \cdot dx \\ dx = \frac{dz}{3} \end{array} \quad = \frac{1}{6} z + \frac{1}{12} \sin 2z + C = \frac{1}{6} 3x + \frac{1}{12} \sin 6x + C =$$

$$= \frac{1}{2} x + \frac{1}{12} \sin 6x + C$$

$$\textcircled{9} \int \sin(x) \cdot \cos^4 x dx = \int 2 \cdot \sin x \cdot \cos^3 x \cdot \cos^2 x dx = 2 \int \sin x \cdot \cos^3 x dx =$$

$$= 2 \int \frac{\sin x}{\cos x} \cdot \frac{1}{\cos^2 x} dx = 2 \int \operatorname{tg} x \cdot \frac{1}{\cos^2 x} dx =$$

$$t = \operatorname{tg} x$$

$$t' = \frac{1}{\cos^2 x}$$

$$dt = \frac{1}{\cos^2 x} dx$$

$$= 2 \int t \cdot dt = 2 \cdot \frac{1}{2} t^2 + C = \operatorname{tg}^2 x + C$$

$$\textcircled{10} \int \cos^3 x \cdot \operatorname{tg} x dx = \int \frac{\cos^2 x}{1} \cdot \frac{\sin x}{\cos x} dx = \int \cos^2 x \cdot \sin x dx =$$

$$\begin{array}{l} t = \cos x, t' = -\sin x \\ dt = -\sin x \cdot dx \end{array} \quad = -\int t^2 \cdot dt = -\frac{1}{3} t^3 + C = -\frac{1}{3} \cos^3 x + C$$

$$\textcircled{3} \int \left( \frac{\sin x}{\cos^2 x} \right) dx = \int \left( \frac{1 - \cos^2 x}{\cos^2 x} \right) dx = \operatorname{tg} x - x + C$$

$$\textcircled{11} \int \operatorname{tg}^2 x dx = \int \left( \frac{1}{\cos^2 x} - 1 \right) dx = \int \frac{1}{\cos^2 x} dx - \int dx = \operatorname{tg} x - x + C$$

$$\textcircled{1} \int (\cos x + 2e^{2x} + 3^x) dx = \int \cos x dx + 2 \int e^{2x} dx + \int 3^x dx =$$

$$= \sin x + 2 \cdot e^{2x} \cdot \frac{1}{2} + 3^x \cdot \frac{1}{\ln 3} + C = \sin x + e^{2x} + \frac{3^x}{\ln 3} + C$$

$$\textcircled{2} \int (\sqrt[4]{x^3} - \frac{2}{\sqrt{x}} + \frac{1}{x}) dx = \int x - 2 \int x^{-\frac{1}{2}} dx + \int x^{-1} dx =$$

$$= \frac{4}{7} x^{\frac{7}{4}} - 2 \cdot \frac{2}{1} \cdot x^{\frac{1}{2}} + \ln|x| + C = \frac{4}{7} x^{\frac{7}{4}} - 4\sqrt{x} + \ln|x| + C$$

$$\textcircled{3} \int \frac{1-x^2-x^{\frac{1}{2}}}{x^2} dx = \int x^{-3} dx - \int dx - \int x^{-\frac{5}{2}} dx = -\frac{1}{2} x^{-2} - x + \frac{3}{5} x^{-\frac{3}{2}} +$$

$$C = -\frac{1}{2x^2} - x + \frac{3}{5} \frac{1}{x\sqrt{x}} + C$$

$$\textcircled{4} \int \frac{1-\sin^2 x}{\sin^2 x} dx = \int \left( \frac{1}{\sin^2 x} - \frac{\sin^2 x}{\sin^2 x} \right) dx = \int \frac{1}{\sin^2 x} dx - \int \sin x dx =$$

$$= -\operatorname{ctg} x + \cos x + C$$

$$\textcircled{5} \int \cos^3 x dx = \int \cos^2 x \cdot \cos x dx = \int ((1-\sin^2 x) \cdot \cos x) dx =$$

$$= \int \cos x dx - \int \sin^2 x \cdot \cos x dx = \sin x + C - \int t^2 \cdot dt =$$

$$\begin{aligned} \sin x = t \\ t' = \cos x \\ dt = \cos x \cdot dx \end{aligned} \quad = \sin x + C - \frac{1}{3} t^3 = \sin x + C - \frac{1}{3} \sin^3 x$$

$$= \sin x - \frac{1}{3} \sin^3 x + C$$

$$\int x^2 \cdot \ln x dx = \ln x \cdot \frac{1}{3} x^3 - \int \frac{1}{3} x^2 \cdot \frac{1}{x} dx = \frac{x^3}{3} \ln x - \frac{1}{3} \int x dx =$$

$$\begin{aligned} u = \ln x \Rightarrow du = u' \cdot dx = \frac{1}{x} \cdot dx \\ dv = x^2 \cdot dx \Rightarrow v = \int x^2 dx = \frac{1}{3} x^3 + C \end{aligned} \quad = \frac{x^3}{3} \ln x - \frac{1}{9} x^3 + C$$

$$= \frac{x^3}{9} (3 \ln x - 1) + C$$